|

¥ ¢

Rt 4o § 3

Bo% 3k 2 ¥ ¢

10 = ¢ s (RivcFia)
I ~ 3 & & &

/2 o2
5) 1 RhRR 6
113 # 5% 17p + = 10 52 &

%A EHRT R

-s .
%

i £ 4 i

mg

S R IRERE CMRTE R
|~ Atk @ Lt
23 H ek Bl G I
3. FEHERL D F A
4~ A E ek P BB
D~ PTh Bk AR
6~ AR Rk ¢ F KA
T AFek @ FRE ERRR
§~ERmpHL I MP 2
O~ FhmE& gz
10 ~ A€ Rk * 2 e
11~%1kks k38
12 ~ 3 Fopeh @ Bich
13 ~ P45y :

wm
I
=
>2

Bt oHR A%
N A

5 R AR A BAICE WA G X
B~ &4 8%k A
R R = 10 pF 53 A 0 S
‘?w%

—
>

Fl&k B & >

|~

W o 8z Sl ?y”ﬁiiﬁéﬁﬁ‘ﬂﬁﬁ%ﬁ‘%@Eﬁﬁ‘méﬁﬁﬁ‘ﬁg
2 RTEZREREZED
X R ERE 2R RRAE 2

S PR RATR AR

ZRE M A E =

17 ~ 223K ke ©

2057 TR FEEL 12 ¥R
21 ~ 5 ik P = £ W
2~FA A& CER D
3~ HEEAHEL IR

B ERAMETH o pALE
I rERAFS

FREEA B AP FAFTE 25 80 R

BRMA -

(A FHAaZER)-

(A FHgER) -



